1.

H7]
1 13-7 6 2
I R I
(1) 2%-1%
1 .3
(2) 4ﬁ_3ﬁ
5 2 5
@ (1) 1 (2) 13 @ (1) 12 (2) 17
3.9 5 .9
®(1)§(2)ﬁ @(1)§(2)ﬁ
7.2
® 3@




1
Zo|7} 51—3 cm, 61—75 cm € 2702 & o]y 10% em 7t 9%

Uk £ e B om 7F AGEUT

1
@ 1= cm @ 114z em ® 7= cm

12
@ 2— cm ©Ecm



ojn

7ke] A7) dlztiut,

=
1

o

i

ol
L

N



thg molek ol [ Jote] grgre 48 Aevle A
ol A7

2.875 = 2+ 0.8 4 0.07 + 0.005

5176 = |+01+007+] ]

@D 5,0.0006 @ 5,0.006 ® 5,0.06
@ 5,06 ® 5,6



<B7)> 0] Fol7l oA BAR AL i ol AYUI

3.84 3.831 4.72 4.721 3.72

O 3.84 @ 3.831 @ 4.72 @ 4.721 ® 3.72




6. o

0] GOl A] Fo] 71 2 22 o] 1A F5HA 0,

oo

@® 0.35+0.72 @ 0.54 + 0.54 ® 0.92+0.11

@ 0.47 4 0.62 ® 0.82+0.24



re
@ Azo 4
Lo
@ Alzo 4
re
® Alzo 4

{r
a
o

:-1 O l“ ]:]L = .
O] 2000 }:]L = .

LI

;I'O 300 4 +

LIS H .

{r
ol
o

Ar
ol
rst

@ A=zReo &Fe =ZF sty 1Yt
SN rm A4 0(?:1
110
St 71o |
M Twa O3 50044
o] R+ O . }]
! 2O L1 5
[e) O
A29] Zto t
®



]

13
15

=11

7 2

3 4 2 4
i @71—5 @51—5 @31—5

@ 3

O 2



H7]
7 1 3
@5—25 @7—6§ @10—7§
© 9,06, @ 9,6, ® 0,0 06
@ 0,060 ® ©,0,0




10.

o 4 SOl 571 detdle a7t 7H8 2 7 E AR &
ol AdU7?

o
A2

@ 25179 —<1 ¢ © 0.529 2] 100 8¢S 4=

© 623.59]

—_
‘»—tO‘H

ol 4 ® 3.0052] 1081 4

—
o

0

® 9-8-6-0 2@ 0-6-e-© ® ©-0-6-6
@ ©-0-6-© ® ®-0-6-0



11. Al 259 SIS vt Al e 1242,

(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
@ (1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478



12. e 5 BAApAgT niERo] 4
AU

® AetelE

@ AAAZLS



|
ol

A

7

o

A

o

® A2

©® AteE

PP

o



o

A

o

45
@



12 ety o8 714 o

S
j=]
1

NN/

,_.#mo

jite]

© orgw

® AtdeElE

‘u_mO
N

15

@ 34



